It Sry (0l00=-LJ rog) (081 retss)
l:-I)JN i IIIN [ omm 2 |mr2+\ [LJT=T=TH usmmee»\

0%
=

[

) m
2\ 2

lor,
(=]

(DE0
\ Tim OEEFE\ NEIHEE\ I)ED\ my MEN& 2 IH

HT-47

222

I Ls H I Dsl N
|
EH
SO uc H 0 K
0, &
) : —»!
| G- ‘ ; ~
STTA L x w20 @AV YNY HQ WEDH SE 280 MH| TN &L _
= QHAIO|X
Al
2 nl AZIC T =2 L y/ n Ds b | ma | @A
™ M d=ds Chamfer o= () | (mm) | o) | ) | (o) | ey | BT | B
43 9cH - 0| L4AIE
A TNMP2.0E507
A* L072.0E5-P
A TNMP2.0E510
A* L102.0E5-P 3
M2X0.4 e 3 125 5 3 c
A TNMP2.0E107 :
VAN L072.0E1-P
A TNMP2.0E110
VAN L102.0E1-P
AN TNMP2.3E507
A* L072.3E5-P
A TNMP2.3E510
A* L102.3E5-P 3
M2.3x0.4 3 025 5 3 c
A TNMP2.3E107 :
A* L072.3E1-P
A TNMP2.3E110
AN L102.3E1-P
AN TNMP2.5F507
VAN L072.5F5-P
AN TNMP2.5F510
VAN L102.5F5-P 3
M2.5X0.45 b 3 125 5 3 c
A TNMP2.5F107 :
VAN L072.5F1-P
A TNMP2.5F110
A* L102.5F1-P
A TNMP2.6F507 8.1 14
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 70
VAN L072.6F5-P 9.5 16
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, Sp
AN TNMP2.6F510 8.1 14
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, : 100
AN L102.6F5-P 9.5 16 :
M2.6X0.45 e o I e E S 3 125 5 3 C
A\ TNMP2.6F107 8.1 14 :
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 70
/\* LO72.6F1-P 9.5 16
A TNMP2.6F110 8.1 14
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, : 100
/\* L102.6F1-P 9.5 16
AN TNMP3.0G507 9 14
M3X0.5 e 5p P1 70 i 4 3.2 6 3 c
i A* | L073.0G5-P 11 18
X IHL 2+ BA 4E2 D7t AOIX| =2 Wi ZEIHEULCH,
Think threads with
YAMAWA O=%ZQEE O=Q85E A=SYZFEE (T 445




X YAL 7|2 XIE -81 BY THE AESHIAIQ |
XN 52 Ut Gl TS0l AYS HMHY & USLICH
LS-HT S 43 %cH
AlH
H b in A3 C T = L -2 -Bn Ds K -Bk DA Al
A fa d=3 Chamfer o= Ert e e e O e A R
© | TNMP3.0G510
O* L103.0G5-P
JAN TNMP3.0G512
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP
VAN L123.0G5-P
A TNMP3.0G515
A* L153.0G5-P
/A | TNMP3.0G107 | |
1 P1
VAN L073.0G1-P | |
O TNMP3.0G110
O* L103.0G1-P
——————————————————————————————————————————————————————————— 1.5P
TNMP3.0G112
M3x0.5 e 4 3.2 6 3 c
L123.0G1-P
A TNMP3.0G115
A* L153.0G1-P
A TNMR3.0G510 9 14
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ‘100
A* L103.0G5-R 11 18
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP SRR SRRy R SRR W |
AN TNMR3.0G515 9 14
——————————————————————————————————————————————————————————— 150
A L153.0G5-R 11 18
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, P3 RN SH RPN SRR |
A TNMR3.0G110 9 14
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ‘100
A\* L103.0G1-R 11 18
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ‘I.SP R SRR SRR
A TNMR3.0G115 9 14
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ‘150
AN\* L153.0G1-R Cn 18
A1 TNMQ40I507 TR
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 70
AN L074.015-Q L3 20
@) TNMQA4.01510 1 17
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 100
O* L104.015-Q 13 20
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP
A TNMQ4.01512 11 17
——————————————————————————————————————————————————————————— b
AN L124.015-Q 13 20
© TNMQ4.01515 11 17
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150
o* L154.015-Q 13 20
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, P2 RS U RN SRR |
AN TNMQ4.01107 11 17
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 70
AN L074.011-Q 13 1 20
MAx0.7 b e 5 4 7 3 c
@) TNMQ4.01110 11 17
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 100
O* L104.011-Q 13 20
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ‘|.5P e
PAN TNMQ4.01112 11 17
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 120
AN L124.011-Q 13 20
(@) TNMQ4.01115 11 17
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150
O* L154.011-Q 13 20
AN TNMR4.01510 11 17
——————————————————————————————————————————————————————————— 100
L A* L L104.015-R | ; 13 20
T S S P3 it
i /A TNMR4.0I515 | : 11 17
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150
A* L154.015-R 13 1 20

X 2 * BA YE2 DIt ROIXI=HE B S2IHEUC

Think threads with

YAMAWA

s/

- 12
=]

7 (OKog:
1> IE 1l

-] 124
[4=1=]

) Tm oXl¥ Sry O Mk OE OMFM IE IMr2kd (oloo2:
=] 02 2=C 4 0E Nl

(HE0bOrE!
IE [HS

/ IleOl!IErE/ HII!IHI.'.'TE/ I)EE/ I3 menne

HT-48

223



pd LS-HT E43wcH
mA
il 4= L ¢ | 8 D | K 8
=4 A ni AP C =3 n s k A Al
=1 ™A T o=E= Chamfer oH= (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | = Y
/A TNMR4.0I110 n o7
R 100
- PA* 1 L104.011-R 13 20
B M4x0.7 R 1.5P P 5 4 7 3 c
So © /A | TNMR4.0I115 1M 17
5= T R 150
s= A* 1 L154011R 13 1 20
/ A TNMQ5.0K507
a"li A* | L075.0K5-Q
- ©) TNMQ5.0K510
O* L105.0K5-Q
5P
A TNMQ5.0K512
VAN L125.0K5-Q
@) TNMQ5.0K515
O* L155.0K5-Q
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, P2
. A TNMQ5.0K107
5 T
o A* 1 L075.0K1-Q
(@) TNMQ5.0K110
i O* | L105.0K1-Q
M5x0.8 R S — 15P 1 heeeeebeedod 55 = 45 7 3 c
E /A TNMQ5.0K112 13 0 22
I (N I i P 120
VAN L125.0K1-Q 16 | 25
© TNMQ5.0K115
/ O* | L155.0K1-Q
e | |
TS A TNMR5.0K510
=1t | | e
A VAN L105.0K5-R
Em | | e e
/ >
L155.0K5-R
20
Sn TNMR5.0K110
T !
- A\* L105.0K1-R
/ A TNMR5.0K115
% A¥* 1 L155.0K1-R
= © | TNMQ6.0OMS510 15 | 26
al | b [
O* L106.0M5-Q 19 | 28
/ O TNMQ6.0M512 15 | 26
o | | e L 120 ]
ol O* L126.0M5-Q 19 | 28
A 5P
(@) TNMQ6.0M515 15 | 26
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150
O* L156.0M5-Q 19 | 28
/m L /A | TNMQ6.0M520 | | 15 | 26
i M6x1 5 P2 200 oo 6 45 7 3 c
= VAN L206.0M5-Q | 19 | 28
| g SOy Ry Uy |
= i
©O | TNMQ6.0M110 15 | 26
e M L 100 (et
/ O* | L106.0M1-Q 19 | 28
a O TNMQ6.0M112 15 26
I N I e 1.5P 120 i
% O* L126.0M1-Q 19 28
© | TNMQ6.0M115 15 26
e T L[
©O* | L156.0M1-Q 19 © 28

HT-49 Think threads with
224 PAYAMAWA c-:z6s5 o-sss

X 2 * BA YE2 Dt RO =HE I S2IHELC.




X YAL 7|2 XIE -81 BY THE AESHIAIQ |
XN 52 Ut Gl TS0l AYS HMHY & USLICH
LS-HT S 43 %cH
AlH
H I In Al C T = L B -Bn Ds K -Bk DA Al
A fa d=3 Chamfer o= (o) | o) | ) | ) | ) | ey | BT | B
A | TNMQ6.0M120 15 | 26
e 1.5P P2 D200 e
VAN L206.0M1-Q 19 28
JAN TNMR6.0M510
A* L106.0M5-R
——————————————————————————————————————————————————————————— 5P
A TNMR6.0M515
M6ExT e 6 45 7 3 c
AN L156.0M5-R ;
P3
A TNMR6.0M110 :
VAN L106.0M1-R
—————————————————————————————————————— 1.5P
A TNMR6.0M115
AN L156.0M1-R
TNMQS8.0N510 19
L108.0N5-Q 22
O TNMQ8.0N512 19
——————————————————————————————————————————————————————————— 120
O L128.0N5-Q 22
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP
O TNMQ8.0N515 19
——————————————————————————————————————————————————————————— 150
O* L158.0N5-Q 22
O TNMQ8.0N520 19
rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr £ 200
O L208.0N5-Q 22
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, P2
@) TNMQ8.0N110 19
——————————————————————————————————————————————————————————— 100
O* L108.0N1-Q 22
O TNMQ8.ON112 19
——————————————————————————————————————————————————————————— P 120 ot
O L128.0N1-Q 22
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 15P
@) TNMQ8.0N115 19
——————————————————————————————————————————————————————————— 150
O* L158.0N1-Q 22
M8x1.25 bl - 6.2 5 8 4 e
O TNMQ8.0N120 19
——————————————————————————————————————————————————————————— 200
O* L208.0N1-Q 22
AN TNMR8.ON510 19
rrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrrr 100
AN L108.0N5-R 22
AN TNMR8.ON515 19
——————————————————————————————————————————————————————————— 5P 150
/\* L158.0N5-R 22
AN TNMR8.0N520 19
——————————————————————————————————————————————————————————— 200
/\* L208.0N5-R 22
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, p3 SRR SRR |
A TNMR8.ON110 19
——————————————————————————————————————————————————————————— 100
/\¥ L108.0N1-R 22
A TNMR8.ON115 19
——————————————————————————————————————————————————————————— 1.5P 150
AN L158.0N1-R 22
AN TNMR8.0N120 19
——————————————————————————————————————————————————————————— 200
VAN L208.0N1-R 22
A TNMQ8.0M510 19
——————————————————————————————————————————————————————————— 100
A* L108.0M5-Q 22
M8XT e 5p P2 et - 6.2 5 8 4 e
A TNMQ8.0M512 19
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 120
VAN L128.0M5-Q 22

X 2 * BA YE2 DIt ROIXI=HE B S2IHEUC

Think threads with

YAMAWA

s/

- 12
=]

7 (OKog:
1> IE 1l

-] 124
[4=1=]

) Tm oXl¥ Sry O Mk OE OMFM IE IMr2kd (oloo2:
=] 02 2=C 4 0E Nl

(HE0bOrE!
IE [HS

/ IleOl!IErE/ HII!IHI.'.'TE/ I)EE/ I3 menne

HT-50

225



L]

It Sry (0l00=-LJ rog) (081 retss)
l:-I)JN i IIIN [ omm 2 |mr2+\ [LJT=T=TH usmmee»\

=

0

[

) m
2\ 2

lor,
(=]

(DE0
\ Tim OEEFE\ NEIHEE\ I)ED\ my MEN& 2 IH

HT-51

226

LS-HT S43ucHy
1—+7:| IHE AT C A_l-l?- = L B -Qn Ds K -Qk DA g*r
- ceme= Chamfer °= (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | =" ©
FoA TNMQ8.0M515 19
———————————————————————————————————————————————————————— 150
YANS L158.0M5-Q 22
AN TNMQ8.0M110 19
———————————————————————————————————————————————————————— 100
AN L108.0M1-Q 22
M8x1 e P2 b - 6.2 5 8 4 e
A TNMQ8.0M112 19
———————————————————————————————————————————————————————— 120
AN L128.0M1-Q 22
AN TNMQ8.0M115 19
———————————————————————————————————————————————————————— 150
VAN L158.0M1-Q 22
O TNMQ0100510 23
———————————————————————————————————————————————————————— {100 oo
O L1001005-Q 24
O TNMQO0100512 23
——————————————————————————————— 120
O L1201005-Q 24
(@) TNMQO0100515 23
———————————————————————————————————————————————————————— 150
O* L1501005-Q 24
O TNMQO0100520 23
———————————————————————————————————————————————————————— 200
O* L2001005-Q 24
JAN TNMQO0100525 23
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 3 250
YA L2501005-Q 24
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, P2 RN SRR RSP
O TNMQ0100110 23
———————————————————————————————————————————————————————— 100
O L1001001-Q 24
O TNMQO0100112 23
——————————————————————————————————————————————————————————— i 120 i
O L1201001-Q 24
(@) TNMQO0100115 23
——————————————————————————————————————————————————————————— 1.5P 150
o* L1501001-Q 24
O TNMQO0100120 23
M10X1.5 e 1200 - 7 5.5 8 4 e
O L2001001-Q 24
JAN TNMQ0100125 23
VAN L2501001-Q
AN TNMR0100510
A* L1001005-R
AN TNMR0100515
ANy L1501005-R
A TNMR0100110
AN L1001001-R
A TNMR0100115
VAN L1501001-R
AN TNMS0100510 23
——————————————————————————————————————————————————————————— £ 100
N* L1001005-S 24
A TNMS0100515 23
———————————————————————————————————————————————————————— P4 150
VAN L1501005-S 24
A TNMS0100110 23
———————————————————————————————————————————————————————— . 100 -
AN L1001001-S 24

XTI 2~ EA| 4B Wt SlOXISTE Bl BEorEUT .

Think threads with

YAMAWA .-:a¢ss o




XYM IS XIE -81 BY EHE HISHIAIR
XY S2 UsH GIIA0| MUS HAY & UAFLICH,
LS-HT S43%cHy
- - Chamfer °= (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | =T
A TNMS0100115 23
M10x1.5 P 5P P4 1150 - 7 5.5 8 4 e
A* i L1501001-S § i ! P24
O | TNMQOTON510
O* L10010N5-Q
O TNMQOTON512
O* | L12010N5-Q
R SP
O TNMQO10N515
O L15010N5-Q
A TNMQO10N520
t A* 1 L20010N5-Q : |
P2
| TNMQO10N110 | ;
L10010N1-Q
O TNMQO10N112
O* L12010N1-Q
——————————————————————————————————————————————————————————— 1.5P
O TNMQOTON115
O* L15010N1-Q
M10%1.25 b b - 7 5.5 8 4 e
A TNMQO10N120
A* L20010N1-Q
A TNMRO10ON510 | | | P23
SP ‘ T U
A* L10010N5-R 24
P3 | oo
A TNMRO10N110 | ; ; P23
e Lt S I . 100 |
A* L10010N1-R | ; ; D24
A TNMSO010N510 23
A L10010N5-S § 24
T T T A R
A TNMS010N515 | ; ; P23
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | 1 150
AN L15010N5-S 24
P4 R
A TNMS010N110 | ; ; P23
§ 1100
AN L10010N1-S | i | Lo24
——————————————————————————————————————————————————————————— 15P |
A TNMSO10N115 23
§ 1150
A* 1 L15010N1-S 3 3 | Lo24
A | TNMQO10M510 23
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | | 100
A* L10010M5-Q 24
A TNMQO10M512 § § 23
R R T 120
A* L12010M5-Q 1 1 1 L o24
A TNMQO10M515 23
| 0150
AN L15010M5-Q | | | Y
M10x1 P2 R . - 7 5.5 8 4 e
A TNMQO10M110 | | | P23
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ! ! 100
A* L10010M1-Q 24
A TNMQOT0M112 § 23
Do 5P F 120
A* L12010M1-Q | 3 | |24
A TNMQO10M115 23
| 1150
A* 1 L15010M1-Q | | § 24

X 2 * BA YE2 DIt ROIXI=HE B S2IHEUC

Think threads with

YAMAWA

s/

- 12
=]

7 (OKog:
1> IE 1l

-] 124
[4=1=]

) Tm oXl¥ Sry O Mk OE OMFM IE IMr2kd (oloo2:
=] 02 2=C 4 0E Nl

(HE0bOrE!
IE [HS

/ IleOl!IErE/ HII!IHI.'.'TE/ I)EE/ I3 menne

HT-52

227



LS-HT S 43 %c
mA
oillt AlH
2% AZIC o =a L 2 2, Ds K b | sa AF
= T o=E= Chamfer oH= (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | = Y
O TNMQO12P510 26
. O* L10012P5-Q
sl S
= O | TNMQO12P512
k= SO O
&4 O* L12012P5-Q
/ (@) TNMQO12P515
x O* L15012P5-Q
- O TNMQO12P520
O* L20012P5-Q
AN TNMQO12P525
A L25012P5-Q
@) TNMQO12P110
O L10012P1-Q
. O TNMQO12P112
; ————————————————————————————————————————————————————————
@ Lo g oz
(@) TNMQO12P115
O* L15012P1-Q
M12x1.75 e - 85 | 65 9 4 e
E O TNMQO12P120
EH |
O* L20012P1-Q
A TNMQO12P125
/ A 125012P1-Q
T S ——
0% A TNMRO12P515
O s s —
= At L15012P5-R
s ;
/ A TNMRO12P115
L15012P1-R
@ﬁ
ga /A TNMSO012P515
I e e e TR T N SERRRRRRRS
- AN L15012P5-S 29
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP S SR
A TNMS012P520 26
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 200
u A L20012P5-5 29
% T P4
/A TNMSO012P115 26
Ed} 1
21 | e 150
NF L15012P1-S 29
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 'LSP SRR U PR
/ A TNMS012P120 26
o | | e | 200 oo
ol A L20012P1-S 29
a A | TNMQ0120510 26
——————————————————————————————————————————————————————————— 100
A\* L1001205-Q 29
/m A TNMQO0120512 26
Bl | 000 e 120 e
c VAN L1201205-Q 29
=] R 5P 1
LA TNMQO120515 | | 26
M12x1.5 T 5 ) 1150 - 85 | 65 9 4 e
/ PA* 1 L1501205-Q : | 29
M A TNMQO120520 26
- I [ I e T 200
% A* L2001205-Q 29
/A | TNMQO120110 26
———————————————————————————————————————————————————————— 100 i
A¥ L1001201-Q 29

S 2 * A 4B S M0t QOIS UE B S2IrE0D

Think threads with
YAMAWA O=%ZQEE O=Q85E A=SYZFEE (T 445

HT-53

228




X YA2 IS X2 -81 BY EHE MESYAIQ
X 02 52 s 00| MYS HEY & USLCH,
LS-HT S ¢3%CH
- - Chamfer °= (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | =T
A TNMQ0120112 26
R s 120
A* L1201201-Q § § § P29
AN TNMQ0120115 ; 26
T R S 01 P2 1150
AN L1501201-Q | | | L29
A TNMQO120120 § § 26
——————————————————————————————————————————————————————————— s 200
A* 1 12001201-Q i i § P29
A TNMS0120515 |
M12x1.5 e - 85 | 65 9 4 e
A* L1501205-S |
—————————————————————————————————————— 5P
A TNMS0120520
A* L2001205-S
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, P4
TNMS0120115
L1501201-S
——————————————————————————————————————————————————————————— 1.5P
A TNMS0120120
A* 12001201-S | |
O | TNMQOI2N510 2
——————————————————————————————————————————————————————————— s 100
O* L10012N5-Q | | | L29
A TNMQO12N512 26
——————————————————————————————————————————————————————————— s 120
AF L12012N5-Q | | | L29
‘,,,,,,,,,,,,,,,,‘,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,‘: SP ‘ ,,,,,,,,,,,,,,,,,,,,,,,
O TNMQO12N515 | | | |26
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 1 1 150
O* L15012N5-Q 29
A TNMQO12N520 i i 26
——————————————————————————————————————————————————————————— s 200
s L20012N5-Q i | | P29
P2 ,,,,,,,,,,,,,,,,,,,,,,,
O TNMQO12N110 26
——————————————————————————————————————————————————————————— s 100
O* L10012N1-Q i | | P29
A TNMQO12N112 § § 26
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 1 1 120
A* L12012N1-Q 29 3
M12x1.25 R T L R . - 85 | 65 9 4 e
O TNMQO12N115 ; | | L 26 |
——————————————————————————————————————————————————————————— s 150
O* L15012N1-Q § | | [29
A TNMQO12N120 26
——————————————————————————————————————————————————————————— s 200
A* L20012N1-Q | | | bo29
VAN TNMSO012N515 | | | |26
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, | ] 150
A* L15012N5-S 29
5P ‘ ‘ """"""
VAN TNMS012N520 ; ; ; L26
——————————————————————————————————————————————————————————— 1 . 200 |-
A* L20012N5-S | | | L29
S P4 ,,,,,,,,,,,,,,,,,,,,,,,
VAN TNMS012N115 26
""""""""""""""""""""""""""""""""""" i C 150
A* L15012N1-S § | | 129
R T L R
A TNMS012N120 ; ; ; 126
——————————————————————————————————————————————————————————— 1 . 200 ||
A* 1 120012N1-S | i | L 29
A TNMQO12M510 26
s 100
PA* 1 L10012M5-Q i i § P29 |
M12x1 R T L R - 85 | 65 9 4 e
: A © TNMQO012M515 : 26 1
s 150
A¥* 1 115012M5-Q 29

X 2 * BA YE2 DIt ROIXI=HE B S2IHEUC

Think threads with

YAMAWA

s/

- 12
=]

7 (OKog:
1> IE 1l

-] 124
[4=1=]

) Tm oXl¥ Sry O Mk OE OMFM IE IMr2kd (oloo2:
=] 02 2=C 4 0E Nl

(HE0bOrE!
IE [HS

/ IleOl!IErE/ HII!IHI.'.'TE/ I)EE/ I3 menne

HT-54

229



0%
=

HT-55

230

It Sry (0l00=-LJ rog) (081 retss)
l:-I)JN i IIIN [ omm 2 |mr2+\ [LJT=T=TH usmmee»\

E\ n
=] [

lor,
(=]

(DE0
\ Tim OEEFE\ NEIHEE\ I)ED\ my MEN& 2 IH

LS-HT S43ucHy
1—+7:| IHE AT C A_l-l?- = L B -Qn Ds K -Qk DA g*r
- omE= Chamfer o= (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | = ©
LA TNMQO12M110 26
———————————————————————————————————————————————————————— 100
A* L10012M1-Q 29
MI2XT e 7 R e S - 8.5 6.5 9 4 e
A TNMQO12M115 26
———————————————————————————————————————————————————————— 150
A* L15012M1-Q 29
A TNMQO014Q512
/\* L12014Q5-Q
O TNMQO014Q515
O* L15014Q5-Q
AN TNMQO014Q520
A\* L20014Q5-Q
A TNMQO014Q525
AN L25014Q5-Q
A TNMQO014Q112
A* L12014Q1-Q
M14X2 e - 10.5 8 1 4 e
O TNMQO014Q115
O* L15014Q1-Q
A TNMQO014Q120
AN L20014Q1-Q
VAN TNMQO014Q125
VAN L25014Q1-Q
A TNMR014Q515
VAN L15014Q5-R
A TNMR014Q115
A* L15014Q1-R
A TNMQO0140512 26
——————————————————————————————————————————————————————————— 120
AN L1201405-Q 30
O TNMQO0140515 26
——————————————————————————————————————————————————————————— 5P 150
O* L1501405-Q 30
AN TNMQO0140520 26
——————————————————————————————————————————————————————————— 1200
AN L2001405-Q 30
M14x1.5 P2 b - 10.5 8 11 4 e
A TNMQO0140112 26
——————————————————————————————————————————————————————————— 120
YANS L1201401-Q 30
O TNMQO0140115 26
——————————————————————————————————————————————————————————— 1.5P | 150
O L1501401-Q 30
A TNMQO0140120 26
——————————————————————————————————————————————————————————— 200
VAN L2001401-Q 30
AN TNMQO14M515 26
VAN L15014M5-Q 30
MT4XT e P2 150 - - 10.5 8 11 4 e
A TNMQO14M115 26
A* L15014M1-Q 30
O TNMQO016Q515 26
M16X2 e 5p P2 150 - 125 ¢ 10 13 4 e
i O* | L15016Q5-Q 32
XTI 2+ EA| A4S XD} QoK SR T Z2IHELCH,
Think threads with
YAMAWA ©= A2 QREE O= QEE A= EHZEE (LT HME)




X YAL 7|2 XIE -81 BY THE AESHIAIQ |
X W 52 sl 0|0 AYS HMAEY & UBLICH,
LS-HT S 43 %cH
AlH
H b in A3 C T = L -2 -Bn Ds K -Bk DA Al
B fa d=3E Chamfer o= (o) | o) | ) | ) | ) | ey | BT | B
O TNMQ016Q520 26
T 200
O L20016Q5-Q 32
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP
AN TNMQ016Q525 26
——————————————————————————————————————————————————————————— 250
AN L25016Q5-Q 32
i O | TNMQO16Q115 | | 26
: P2 0150 -
i O* | L15016Q1-Q 3 3 32
O TNMQO016Q120 26
M16X2 b 1.5P - 125 0 10 13 4 e
O
* L20016Q1-Q
A TNMQO016Q125
AN L25016Q1-Q
TNMR016Q515 26
—————————————————————————————————————— 5P
L15016Q5-R 32
——————————————————————————————————————————————————————————————————————————— P32 150
AN TNMR016Q115 26
N R 5P 1 e
A* 1 115016Q1-R 32
O | TNMQO160515 26
——————————————————————————————————————————————————————————— 150
O L1501605-Q 32
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP e
A TNMQ0160520 26
——————————————————————————————————————————————————————————— £ 200
VAN L2001605-Q 32
M16X1.5 oo P2 e - 125 0 10 13 4 e
O TNMQO0160115 26
——————————————————————————————————————————————————————————— | 150 |-
O L1501601-Q 32
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 1.5P b4
AN TNMQ0160120 26
——————————————————————————————————————————————————————————— | 200 |-
A* 1 12001601-Q 32
A | TNMQO16M515 26
S | SP ,,,,,,,,,,,,
AN L15016M5-Q 32
MT6XT e P2 150 - 125 0 10 13 4 e
A TNMQO16M115 26
I R 15P 1 e
A* 1 L15016M1-Q 32
/| TNMRO18R515 33
——————————————————————————————————————————————————————————— 150
VAN L15018R5-R 37
A TNMRO18R520 33
——————————————————————————————————————————————————————————— 5P i 200 -]
/\* L20018R5-R 37
AN TNMRO18R525 33
——————————————————————————————————————————————————————————— | 250 |-
/\* L25018R5-R 37
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, P3
A TNMRO18R115 33
——————————————————————————————————————————————————————————— | 150 i
/\* L15018R1-R 37
M18X2.5  eeeheconold - 14 11 14 4 e
AN TNMRO18R120 33
——————————————————————————————————————————————————————————— 1.5P | 200 -
AN L20018R1-R 37
AN TNMRO18R125 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 250
AN L25018R1-R 37
A TNMS018R515 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5P
/\* L15018R5-S 37
——————————————————————————————————————————————————————————————————————————— P4 150 |-
AN TNMS018R115 33
R ! 15P 1 e
/A\* | L15018R1-S 37

X 2 * BA YE2 DIt ROIXI=HE B S2IHEUC

Think threads with

YAMAWA

s/

- 12
=]

7 (OKog:
1> IE 1l

-] 124
[4=1=]

) Tm oXl¥ Sry O Mk OE OMFM IE IMr2kd (oloo2:
=] 02 2=C 4 0E Nl

(HE0bOrE!
IE [HS

/ IleOl!IErE/ HII!IHI.'.'TE/ I)EE/ I3 menne

HT-56

231



0%
=

HT-57

232

It Sry (0l00=-LJ rog) (081 retss)
l:-I)JN i IIIN [ omm 2 |mr2+\ [LJT=T=TH usmmee»\

E\ n
=] [

lor,
(=]

(DE0
\ Tim OEEFE\ NEIHEE\ I)ED\ my MEN& 2 IH

LS-HT S43ucHy
1—+7:| IHE AT C A_l-l?- = L B -Qn Ds K -Qk DA g*r
- ceme= Chamfer °= (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | =" ©
LA TNMR018Q520 33
AN L20018Q5-R 37
M18X2 e P3 1200 - 14 11 14 4 e
AN TNMR018Q120 33
AN L20018Q1-R 37
O TNMQO0180515
O L1501805-Q
AN TNMQ0180520
VAN L2001805-Q
MI8X1.5 oo P2 - 14 11 14 4 e
O TNMQO180115
O L1501801-Q
AN TNMQ0180120
/¥ L2001801-Q
O TNMRO20R515 33
———————————————————————————————————————————————————————— 150
O L15020R5-R 37
O TNMRO020R520 33
———————————————————————————————————————————————————————— 200
O* L20020R5-R 37
AN TNMRO020R525 33
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 3 250
A¥ L25020R5-R 37
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, P3 RN SRR RSP
O TNMRO20R115 33
———————————————————————————————————————————————————————— 150
O L15020R1-R 37
M20X2.5 ool - 15 12 15 4 e
O TNMRO20R120 33
——————————————————————————————————————————————————————————— 1.5P 200
O L20020R1-R 37
A TNMRO20R125 33
——————————————————————————————————————————————————————————— 250
/\* L25020R1-R 37
A TNMS020R515 33
A* L15020R5-S 37
———————————————————————————————————————————————————————— P4 © 150
AN TNMS020R115 33
VAN L15020R1-S 37
O TNMR0200515 33
——————————————————————————————————————————————————————————— i 160 -
O L1502005-R 37
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP
AN TNMR0200520 33
——————————————————————————————————————————————————————————— 200
AN L2002005-R 37
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, P3
O TNMR0200115 33
——————————————————————————————————————————————————————————— {150 i-----o-!
O L1502001-R 37
M20X1.5 e 1.5P 1 et - 15 12 15 4 e
AN TNMR0200120 33
——————————————————————————————————————————————————————————— 200
yANS L2002001-R 37
AN TNMS0200515 33
yANS L1502005-S 37
———————————————————————————————————————————————————————— P4 © 150
AN TNMS0200115 33
AN L1502001-S 37
AN TNMRO22R515 33
M22x2.5 e 5P P3 © 150 - 17 13 16 4 e
i A* | L15022R5-R 38
XTI 2+ BA AEL X0t YOIR=HE T ZRIMLCH,
Think threads with
YAMAWA 0= 2T QEE O= QEE A= EYUZIEE (£FMME)




X WAL J|2 KR -81 BY EHE HESHIAIR .
X W 52 sl 0|0 AYS HMAEY & UBLICH,
LS-HT S 43 %cH
AlH
H b in A3 C T = L -2 -Bn Ds K -Bk DA Al
A fa d=3 Chamfer o= (o) | o) | ) | ) | ) | ey | BT | B
/A | TNMRO022R520 33
T 200
/\* L20022R5-R 38
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP
AN TNMRO022R525 33
——————————————————————————————————————————————————————————— 250
VAN L25022R5-R 38
¢ /A TNMRO22R115 : 3 33
. P3 150
i A* 1 L15022R1-R : ; 38
AN TNMRO022R120 33
M22x2.5 b 1.5P - 17 13 16 4 e
VAN L20022R1-R
AN TNMRO22R125
AN L25022R1-R
TNMS022R515 33
—————————————————————————————————————— 5P
L15022R5-S 38
——————————————————————————————————————————————————————————————————————————— P4 150
AN TNMS022R115 33
N R 1.5P 1 e
A* 1 L15022R1-S 38
/| TNMR0220515 33
——————————————————————————————————————————————————————————— 150
VAN L1502205-R 38
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP e
A TNMR0220520 33
——————————————————————————————————————————————————————————— £ 200
VAN L2002205-R 38
M22x1.5 e P3 e - 17 13 16 4 e
/A TNMR0220115 33
——————————————————————————————————————————————————————————— | 150 |-
AN L1502201-R 38
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 1.5P b4
AN TNMR0220120 33
——————————————————————————————————————————————————————————— | 200 |-
A* 1 12002201-R 38
O | TNMR0245515 39
——————————————————————————————————————————————————————————— 150
O L15024S5-R 45
O TNMR0245520 39
——————————————————————————————————————————————————————————— 5P 200
O L2002455-R 45
AN TNMR0245525 39
——————————————————————————————————————————————————————————— 2560 -
VAN L2502455-R 45
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, P3 e
O TNMR0245115 39
——————————————————————————————————————————————————————————— £ 150
O L1502451-R 45
M24x3 el - 19 15 18 4 e
O TNMR0245120 39
——————————————————————————————————————————————————————————— 1.5P 200 [
O L20024S1-R 45
AN TNMR0245125 39
——————————————————————————————————————————————————————————— | 260 i
/\* L2502451-R 45
AN TNMS024S515 39
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP
¥ L1502455-S 45
——————————————————————————————————————————————————————————————————————————— P4 150
AN TNMS0245115 39
I 15P  F e
A* 1 L1502451-S 45
A | TNMR024Q520 39
ol 5P ,,,,,,,,,,,,
VAN L20024Q5-R 45
M24x2 e P3 1200 - 19 15 18 4 e
A TNMR024Q120 39
R SRR 15P e
/A\* 1 120024Q1-R 45

X 2 * BA YE2 DIt ROIXI=HE B S2IHEUC

Think threads with

YAMAWA

s/

- 12
=]

7 (OKog:
1> IE 1l

-] 124
[4=1=]

) Tm oXl¥ Sry O Mk OE OMFM IE IMr2kd (oloo2:
=] 02 2=C 4 0E Nl

(HE0bOrE!
IE [HS

/ IleOl!IErE/ HII!IHI.'.'TE/ I)EE/ I3 menne

HT-58

233



It Sry (0l00=-LJ rog) (081 retss)
l:-I)JN i IIIN [ omm 2 |mr2+\ [LJT=T=TH usmmee»\

0%
=

[

) m
2\ 2

lor,
(=]

(DE0
\ Tim OEEFE\ NEIHEE\ I)ED\ my MEN& 2 IH

HT-59

234

LS-HT S43%c g
Alg
2 Nl ANZIC o =a L 2 Y D. K b | sa '
B M d=3E Chamfer o= (mm) | (mm) | (o) | (o) | (o) | (o) | S| S
O TNMR0240515 39
———————————————————————————————————————————————————————— £ 150
O* L1502405-R 45
AN TNMR0240520 39
———————————————————————————————————————————————————————— 1200
AN L2002405-R 45
T B T s P3  feeereeeeeteeeeeeodd - 19 15 18 4
O TNMR0240115 39
———————————————————————————————————————————————————————— £ 150
O L1502401-R 45
A TNMR0240120 39
———————————————————————————————————————————————————————— 1200
VAN 12002401-R 45
VAN TNMR0275520 39
———————————————————————————————————————————————————————— 1200
A\¥ L20027S5-R 45
AN TNMR0275525 39
——————————————————————————————— 250 ¢
/¥ L25027S5-R 45
b 2 T s [ S s ettt - 20 15 18 4
AN TNMR0275120 39
———————————————————————————————————————————————————————— 1200
A\¥ L2002751-R 45
A TNMR0275125 39
———————————————————————————————————————————————————————— 250
AN L25027S1-R 45
AN TNMR027Q525 39
A* L25027Q5-R 45
M27X2 e P3 i 250 -t - 20 15 18 4
A TNMR027Q125 39
¥ L25027Q1-R 45
A TNMR0270520 39
——————————————————————————————————————————————————————————— 1200 -
AN L2002705-R 45
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP
AN TNMR0270525 39
——————————————————————————————————————————————————————————— 1250
A* L2502705-R 45
M27x1.5 [ B s S - 20 15 18 4
AN TNMR0270120 39
——————————————————————————————————————————————————————————— 1200
VAN L2002701-R 45
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ’|5P D S —
A TNMR0270125 39
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ' 250
VAN L2502701-R 45
AN TNMS030T520 46
——————————————————————————————————————————————————————————— 1200
YANS L20030T5-S 48
A TNMS030T525 46
——————————————————————————————————————————————————————————— 5P i 260 oo
YANS L25030T5-S 48
A TNMS030T530 46
——————————————————————————————————————————————————————————— 1300
YANS L30030T5-S 48
M30OX3.5 e P4 et - 23 17 20 4
A TNMS030T120 46
——————————————————————————————————————————————————————————— 1200
AN L20030T1-S 48
A TNMS030T125 46
——————————————————————————————————————————————————————————— 1.5P 0 250 -
VAN L25030T1-S 48
A TNMS030T130 46
———————————————————————————————————————————————————————— £ 300
AN L30030T1-S 48
¢ /A TNMR030S525 ‘ 46
M30x3 R 5P P3 i 2560 - - 23 17 20 4
i A* | 125030S5-R : 48

m Think threads with
YAMAWA c-:z055 -85

XTI 2~ EA| 4B Wt SlOXISTE Bl BEorEUT .




X WAL J|2 KR -81 BY EHE HESHIAIR .
XN 52 AsH 600l A2 HAHY & UFLICH
LS-HT 843 %CcHy
_I—+7;| IH_I g:n::“: él-h'l- = L -B -Bn Ds K -Bk DA %g
+ == Chamfer o= (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | =T
FOA TNMR0305125 46
M30X3 b 1.5P P3 . 250 - 23 17 20 4 e
A\* L2503051-R 48
A TNMR030Q520 46
——————————————————————————————————————————————————————————— 200
AN L20030Q5-R 45
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5P e
JAN TNMRO030Q525 46
——————————————————————————————————————————————————————————— 250
i /AA* | L125030Q5-R | | 45
M30x2 P3 e - 23 17 20 4 e
A TNMR030Q120 ‘ | 46
VAN L20030Q1-R
—————————————————————————————————————— 1.5P
YA\ TNMR030Q125
A* L25030Q1-R
TNMR0300520 46
L2003005-R 45
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5P
A TNMR0300525 46
——————————————————————————————————————————————————————————— 250
i /A* | [2503005-R | | 45
M30x1.5 P3 e - 23 17 20 4 e
A TNMR0300120 | | 46
——————————————————————————————————————————————————————————— 200
AN L2003001-R 45
——————————————————————————————————————————————————————————— 1.5P
A TNMR0300125 46
——————————————————————————————————————————————————————————— | 250 |-
A* L2503001-R 45
/A1 L25033T5-S 5P § §
M33x3.5 P4 1 250 @ 51 - 25 19 22 4 e
i /A1 125033T1-S i15P : :
. /A 12503355-R L5 | |
M33x3 P3 1 250 @ 51 - 25 19 22 4 e
i /A | 125033S1-R io15P ; |
/A1 125033Q5-R 5P § §
M33x2 P3 | 250 @ 45 - 25 19 22 4 e
¢ /A | L125033Q1-R Lo15P | :
/A1 12503305-R o5 § §
M33x1.5 P3 | 250 @ 45 - 25 19 22 4 e
' /A | 12503301-R bo15P ; ;
A L25036U5-S 250 |
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP L
/A 130036U5-S 3 3 300 |
M36x4 P4 b 57 - 28 21 24 4 e
/A 125036U1-S ‘ : 250 |
——————————————————————————————————————————————————————————— 1.5P
A L30036U1-S 1 300
i /A | 12503655-R i 5P § §
M36x3 P3 | 250 @ 57 - 28 21 24 4 e
; AN . L2503651-R ©15P ; ;
/A 125036Q5-R io5p i |
M36x2 P3 | 250 @ 45 - 28 21 24 4 e
i /A | 125036Q1-R Lo15P ; |
/A1 12503605-R ©o5p § §
M36x1.5 P3 | 250 45 - 28 21 24 4 e
/A 12503601-R bo15P ; |
© /A1 L30039U5-S ©5p § §
M39x4 P4 1 300 @ 60 - 30 23 26 4 e
/A1 L30039U1-S bo15P | |
/A1 L25039S5-R i 5P § §
M39x3 P3 1 250 @ 60 - 30 23 26 4 e
L /A | L12503951-R bo15P : :
© /A1 L25039Q5-R i 5P § §
M39x2 P3 | 250 45 - 30 23 26 4 e
1 /N1 L25039Q1-R . 15P i i

X 2 * BA YE2 DIt ROIXI=HE B S2IHEUC

Think threads with

YAMAWA

s/

4 19
=)

7 (OKog:
1> IE 1l

1S4
=]=]

) Tm oXl¥ Sry O Mk OE OMFM IE IMr2kd (oloo2:
02 2=C 4 IE e

(HE0RrE)
C-4]-[=1=]

/ IleOl!ErE/ HII!IHIEFE/ I)EE/ my m“.EIH!/ ;

HT-60

235



=10 (0l00=-LJ rog) (0021 reL8)
-mN i IIIN [ omm 2 |mr2+\ 1= mmem\ 12 NEEEI)\

4
{

['-1]
=

I

) m
=] I

ko
(=]

(D8
\ Tim ol!mr-_x ml!lnmr-_x I)EL"\ me MEN& 2 IH

HT-61

236

LS-HT S 43 %c
AlH
At C o =a L 2 y) D K O BA A}
4=3E Chamfer °= (mend | () | ) | () | G | oy | B | B
A L2503905-R | §
M39X1.5 e P3 | 250 @ 45 - 30 23 26 4 e
A L2503901-R | |
A L2504055-R | 250 |
AN L30040S5-R 300
M40X3 e P3 e 60 - 30 23 26 4 e
A L2504051-R 250
A L3004051-R : 300 !
A L25040Q5-R ' 250 !
A L30040Q5-R 300
M40X2 e P3 oo - 30 23 26 4 e
A L25040Q1-R . 250 !
A L30040Q1-R 1 300 !
A L2504005-R | 250 |
AN L3004005-R ' 300 |
MA40X1.5 e P3 e 45 - 30 23 26 4 e
A L2504001-R 250
/A L3004001-R 300 ¢
AN L25042V5-S 1 250 !
A L30042V5-S 300
MA42x4.5 e P4 e 60 - 32 26 30 4 e
A L25042V1-S 250
A L30042V1-S 300 !
A L2504255-R ' 250 !
A 1L3004255-R 300
MA42x3 e P3 b 60 - 32 26 30 4 e
A\ L25042S1-R 250
AN L30042S1-R 300 |
A L25042Q5-R | 250 |
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP
A L30042Q5-R 300
M42x2 P3 e 45 - 32 26 30 4 e
A L25042Q1-R 250
——————————————————————————————————————————————————————————— 1.5P
A L30042Q1-R + 300
PAN L2504205-R 1 250 !
A L3004205-R 300
MA2X1.5 e P3 e 45 - 32 26 30 4 e
A L2504201-R 250
——————————————————————————————————————————————————————————— 1.5P
A L3004201-R ' 300 |
A L30045V5-S
MA45x4.5 e P4 1300 @ 67 - 35 26 30 4 e
A L30045V1-S
A L3004555-R | i
M45x3 P3 1 300 | 67 - 35 26 30 4 e
JAN L3004551-R | |
A L30045Q5-R | |
MA5X2 e P3 | 300 | 45 - 35 26 30 4 e
A L30045Q1-R | |
A L3004505-R | |
M45X1.5 e P3 1 300 | 45 - 35 26 30 4 e
A L3004501-R | |
A L30048W5-S 5P | i
M48x5 P4 1 300 | 67 - 38 29 32 4 e
A L30048W1-S 1.5P | |
A L30048S5-R | |
M48x3 e P3 | 300 @ 67 - 38 29 32 4 e
A L3004851-R | 3

XD 2 EA YF2 W17t 8

Think threads with

YAMAWA . :aqs

SOTXI= T2 B S2ELT




X EM2 |2 XIE -81 BY EHE AESMAIL
X 0 52 Qs 010 AYS HHT & UBLICEH,
LS-HT S43wcH RN
_I—+7;| IH_I g:n::“: él-h'l- = L -B -Bn Ds K -Bk DA %g ;i‘;_:
- + == Chamfer o= (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | =T Ze
Em
A L30048Q5-R - | | | | | | | | '
M48x2 P3 1300 45 - 38 . 29 32 4 e
POA L30048Q1-R | 15p | | | | | 3 : |
- =A
[ /A L3004805-R Losp ; § ; ; ; ; ; ; eifl
M48x1.5 P3 1300 45 - 38 29 | 32 4 e e
/A L3004801-R o 15P : : : : : : : : {7
£43 %C @ - QL|T}o| .
_I—+7;| IH_I g:n::“: él-h'l- = L -Q -Bn Ds K -Bk DA %g E
- + == Chamfer o= (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | =T E
/N | TNMQUO4N515 § § § ©15 1 26
L15U04N5-Q ‘ ‘
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP
A TNMQUO4N520
AN L20U04N5-Q
1/4-20UNC T S P2 6 45 7 3 c
A TNMQUO4N115
AN L15U04N1-Q
1.5P %
3
EH
/¥ | L20U04N1-Q
A TNMQUO4KS1S 15 26
3 1| et
A* L15U04K5-Q 19 30 =
S S| R S S &
AN TNMQU04K520 : : : L5 26 =
5 20
o A* 1 L20U04K5-Q : i : 19 0 30 3 3 3 3
1/4-28UNF P2 fresrecssbenrecantecneeeest 6 L 45 1 7 1 3 1 €
/A TNMQUO4K115 : : : 15 26 : : : : \
1 150 -
A* L15U04K1-Q 1 1 1 Lo19 30 i
et R S I s AT S o
A TNMQUO04K120 | | | P15 26 ’EH
3 D200 oo -
A* | L20U04K1-Q i i i 19 30 ES
A | TNMQUO50515 19 62 \
; 150 oot F
A* L15U0505-Q : 1 1 L22 6.1 201
S | SP \ S SR | EollE
A TNMQUO050520 19 6.2 —H
; 200 oot
POAX L20U0505-Q | 3 | P22 L6 | | |
5/16-18UNC P2 P o 58 4 e
A TNMQUO050115 : : : 19 L 62 : : : u
ol ! ! 150 F F EI
VAN L15U0501-Q 22 6.1 z
T T L S 2
VAN TNMQUO050120 3 3 3 19 1 6.2 El
i 1200 e
A* | 120U0501-Q ; ; ; 2 6 \
A TNMQUO5M515 19 62 q
| 1150 S A
A* L15U05M5-Q 1 1 1 P22 L6
T e T e
A TNMQUO5M520 § § § P19 ! 6.2
S | \ 200 | S | S
[ A% 1 L20U05M5-Q 1 1 1 L2 L6l 1 1 1
5/16-24UNF P2 Pl o 58 L 4 e M
A TNMQUO5M115 | | | Fo19 L62 ! : : | Et
; 150 S 5
A* L15U05M1-Q 3 i 3 22 L6 =
S | ’|5P \ | SR SR | S
A TNMQUO5M120 19 6.2
| 1200 o
A* 1 L20U05M1-Q : : : L2200 ©o6.1 M
I I I I I ‘ ‘ 2]
A | TNMQUO6P515 | | | D23 g
3/8-16UNC i A* 1 L15U06P5-Q Lo5Pp P2 | L2400 - 7 155 0 8 1 4 | e
A TNMQUOGP520 200 23 | \

X 2 * BA YE2 DIt ROIXI=HE B S2IHEUC

Think threads with HT-62
KXIVAMAWA 77



pd LS-HT E43wcH
mA
il e L ¢ | 8 D | K 8
24 A TH T AP C = n s k DA Al
=1 ™A = o=E= Chamfer oH= (mm) | (mm) | (mm) | (mm) | (mm) | (mm) | = Y
A L20U06P5-Q 200 24
- A TNMQUO6P115 23
I [ I e 150 |
So 3/8-16UNC A* L15U06P1-Q P2 24 - 7 55 | 8 4 e
[ -0 T I s Y [ = T T T P P e
&4 A TNMQUO6P120 23
———————————————————————————————————————————————————————— 1200
/ A* L20U06P1-Q 24
= A TNMQUO6M515
= A* | L15U06M5-Q
= | e 5P
A TNMQUO06M520
AN L20U06M5-Q
3/8-24UNF oo P2 - 7 55 8 4 e
A TNMQUO6M115
A* L15U06M1-Q
——————————————————————————————— 1.5P
A TNMQUO06M120
. A* L20U06M1-Q
5
o A TNMRU07Q515 26 85 | 65
A* L15U07Q5-R 25 8 6
Z/16-T4UNC  boovoeomemommmsdom s P3 1150 e 9 4 e
/ A TNMRU07Q115 26 8.5 6.5
E AF L15U07Q1-R 25 8 6
EH
A TNMQUO7N515 26 85 | 65
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150
VAN L15U07N5-Q 25 8 | 6
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP R SRR »,,,,,,,,,,%,,,,””,,‘
/ A TNMQUO7N520 26 85 | 65
as | | e 200 e e
TS A* L20U07N5-Q 25 8 | 6
=1} 7/16-20UNF 2 e 9 4 e
= A A TNMQUO7N115 26 85 | 65
L i 150 T e
A* L15U07N1-Q 25 8 6
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, '|5P
- A TNMQUO7N120 26 85 | 65
EOI """"""""""""""""""""""""""""""" 200 """"""""""""""""""
So A* L20U07N1-Q 25 8 | 6
B :
- A TNMRUO8SR515 26 105 | 8 1
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150
/ AN L15U08R5-R 29 9 7 10
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5P e Ll
1 A TNMRUO8R520 26 105 | 8 11
g' ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 900 ot e
o VAN L20UO8R5-R 29 9 7 10
& T2-1BUNC bremmemmmmmsd e [ T B ST SRS 4 e
A TNMRUO8R115 26 105 | 8 11
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150
/ A L15U08R1-R 29 9 7 10
EI' ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ‘I.SP ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
ol A TNMRUO8R120 26 105 @ 8 11
A2 | e 1200 b
A* L20UO8R1-R 29 9 | 7 10
A TNMQUO8SN515 26 105 8 11
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150
/m AF L15U08N5-Q 29 9 7 10
=~ S S | SP ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
E A TNMQUO8N520 26 105 | 8 11
E ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 200 ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
AN L20U08N5-Q 29 9 7 10
12-20UNF  feeeeeommmmmomssdom s [ I e 4 e
/ A TNMQUO8N115 26 105 @ 8 11
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150
M AF L15U08N1-Q 29 9 7 10
I N I TSP 1 bl
= A TNMQUO08N120 26 10.5 8 11
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 200
A* L20U08N1-Q 29 9 7 10
/ 9/16-18UNF A TNMQU090515 5p P2 150 @ 26 - 125 10 13 4 e

X BA YE2 T

HT-63

238

m Think threads with
YAMAWA c-:z055 -85

17t UOX|=HE T ZEIHELC.




X EAS 7|2 XIE -81 BY EHE AESHUAIQ .
X N 52 Yol 00| AFUS HAT & UXLICH,
LS-HT S 43 %CcH
AlH
H b in A3 C T = L -B -Bn Ds K -Bk DA Al
A fa d=3 Chamfer o= (o) | o) | ) | ) | ) | ey | BT | B
A* | L15U0905-Q . 5P 30
9/16-18UNF A TNMQUO090115 P2 150 @ 26 - 4 e
T, 15P 1 e
A* 1 L15U00901-Q 30
/A | TNMRU10U515 26
——————————————————————————————————————————————————————————— 150
A* L15U10U5-R 32
,,,,,,,,”,””,,;. ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP ,,,,,,,,,,,,,,,,,,,,,,,
A | TNMRU10U520 26
——————————————————————————————————————————————————————————— | 200
A* L20U10U5-R 32
SB8-TTUNC foeermrmeeemesbemmmec 2 T S - 4 e
TNMRU10U115 26
L15U10U1-R 32
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ‘|.5P b4
A TNMRU10U120 26
e | 200 ||
A* | L20U10U1-R 32
A | TNMQU100515 26
S | SP ,,,,,,,,,,,,
A* L15U1005-Q 32
5/8-18UNF P2 1150 ! R 4 e
26
A* | L1501001-Q 32
A | TNMRU12V515 33
——————————————————————————————————————————————————————————— 150
VAN L15U12V5-R 37
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5P e
A TNMRU12V520 33
——————————————————————————————————————————————————————————— | 200 i
VAN L20U12V5-R 37
3/4-TOUNC oo L T - 4 e
A TNMRU12V115 33
——————————————————————————————————————————————————————————— | 150 ||
A L15U12V1-R 37
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ‘].SP b4
A TNMRU12V120 33
s BT 200
A* | L20U12V1-R 37
A | TNMRU12P515 33 15 12 15
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, SP ,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,
A\* L15U12P5-R 37 14 11 14
B/4-T6UNF oo P3 150 | . 4 e
A TNMRU12P115 33 15 12 15
N L e T e
A* 1 L15U12PTR 37 14 11 14
/A TNMRU14W520 33
ol SP ,,,,,,,,,,,,
7/8-9UNC AN L20U14W5-R P3 200 | 38 - 17 13 16 4 e
A TNMRU14W120 | 15P 33
/A TNMRU16X515 39 19
——————————————————————————————————————————————————————————— 150 |-
A* L15U16X5-R 45 20
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 5P
A TNMRU16X520 39 19
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 200
A* L20U16X5-R 45 20
T-BUNC  freeeeeresmemssboessmmems e [ T T, B 15 18 4 e
A TNMRU16X115 39 19
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, 150
A* L15U16X1-R 45 20
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, ’|5P et bommmmmeeeny
A TNMRU16X120 39 19
S 200 0
A* 1 L20U16X1-R 45 20

X * BA HE2 D7t YOIXI=HE T S2IHEUCH

P YAMAWA

s/

- 12
=]

7 (OKog:
1> IE 1l

-] 124
[4=1=]

) Tm oXl¥ Sry O Mk OE OMFM IE IMr2kd (oloo2:
=] 02 2=C 4 0E Nl

(HE0bOrE!
E IHS

/ IleOl!IErE/ rIII!IHI.".'rE/ I)EE/ my mmmg/ ;

HT-64

239



	LS-HT  롱생크 핸드탭_1
	LS-HT  롱생크 핸드탭_2
	LS-HT  롱생크 핸드탭_3
	LS-HT  롱생크 핸드탭_4
	LS-HT  롱생크 핸드탭_5
	LS-HT  롱생크 핸드탭_6
	LS-HT  롱생크 핸드탭_7
	LS-HT  롱생크 핸드탭_8
	LS-HT  롱생크 핸드탭_9
	LS-HT  롱생크 핸드탭_10
	LS-HT  롱생크 핸드탭_11
	LS-HT  롱생크 핸드탭_12
	LS-HT  롱생크 핸드탭_13
	LS-HT  롱생크 핸드탭_14
	LS-HT  롱생크 핸드탭_15
	LS-HT  롱생크 핸드탭_16
	LS-HT  롱생크 핸드탭_17
	LS-HT  롱생크 핸드탭_18

